2 RARE=SIVTBRERR

Bt i B 528 (Ba/ke)
NO | WG | WERR | WEH | oey il samw) | mme |y REA (e, 290, 2HRE il BEE | G | wmn | 014 | o197 | ostE
1 %f”ﬁb,j rER rEMm IBKERFE SEE REY XK — BERRRRE - Ge H24.11.9 | H24.11.9 234 476 71
2 %f‘ffp,j BER (L 1Bk ER#T SERE R REY B2 3 — EERRERGE 5 Ge H24.119 | H24.119 256 429 69
3 %f”ﬁb,j rER rEMm 1Bk ERFE SEE REY KK — BERRRRE V- Ge H24.11.9 | H24.11.9 31.6 54.9 87
4 %f‘ffp,j BER (L IRk ER#T SERE R REY B2 3 — BEERRERGE 5 Ge H24.119 | H24.11.9 23.1 434 67
5 %fﬁb,j rER rEMm 1Bk ERFE SEE REY XK — BERRRRE V- Ge H24.11.9 | H24.11.9 283 45.0 73
6 %f‘ffp,j BER B — MBS BEY TAAE — BERRERELVS— Ge H24.11.12 | H24.1112 | <77 <70 <15
7 %fﬁb,j rER B — I BEY TAAE — BERERRRE TV S— Ge H24.11.12 | H24.11.12 | 819 7.66 16
8 %f‘ffp,j BER B — MBS BEY TAAE — BERBRERE LV S— Ge H24.11.12 | H24.11.12 | <10 <6.1 <16
9 %fﬁb,j EBR i E — B BEN B! — BERRRBEEVS— Ge H24.11.9 | H24.11.9 <76 <73 <15
10 %f‘ffp,j BER HERE — SERE R BEY 45 — EEREREREGE 5 Ge H24.11.9 | H24.11.9 <74 <76 <15
11 %fﬁb,j rER =5 2L — FERBER BEY 45 — BERERRRE V- Ge H24.11.9 | H24.119 <76 <13 <15
12 %f‘gﬁp,j BER ¥ il — SERER BEY 46 — EERRERGE S Ge H24.11.9 | H24.11.9 <87 <64 <15
13 %fﬁbd EBER | KBIRTE — B BEY 45 — BERRREEEVS— Ge H24.11.9 | H24.11.9 <85 <62 <15
14 %f‘gﬁp,j BER EIF — SERER BEY 45 — EERERERGE S Ge H24.11.9 | H24.11.9 <83 <64 <15
15 %fﬁbd rER LT — MBS BEY 45 — BERERRE V- Ge H24.11.9 | H24.119 <91 <81 <17
16 %f‘gﬁp,j BER REH — SERE R BEY 45 — EEREERGE S Ge H24.11.9 | H24.11.9 <17 <78 <16
17 %fﬁbd BER REH - B BEY 4+A — BERRRBEEVS— Ge H24.11.9 | H24.11.9 <80 <13 <15
18 %f‘gffb,j EBR REH — SERE R BEY 45 — EERERERGE 5 Ge H24.11.9 | H24.11.9 <59 <70 <13
19 %fﬁbd BER REH - FRER BEN 4+A — BERRREEEVS— Ge H24.11.9 | H24.11.9 <79 <5.1 <13
20 %f‘gffb,j EBR ES — SERE R BEY 45 — EERRERGE 5 Ge H24.11.9 | H24.11.9 <66 <72 <14
21 %fﬁbd rER Pz — ERBER BEY 45 — BERERRRE V- Ge H24.11.9 | H24.11.9 <9.4 <9.0 <18
22 %f‘ffb,j BER REH — SERE R BEY 45 — EERRERGE 5 Ge H24.11.9 | H24.11.9 <11 <78 <19
i (FRE | mem | —#nw — FaER | EEn 4 - ERRRRMA L 5— Ge | H2atto | Harts | <es | <77 | <16
24 %f‘ffb,j BER AT — SERE R BEY 45 — EERRERGE S Ge H24.11.9 | H24.11.9 <63 <66 <13
25 %f”ﬁb,j rER A — ERBER BEY *H — BERRRRE V- Ge H24.11.9 | H24.11.9 <85 <13 <16
26 %f‘ffp,j BER ARl - B R BEY 4+A - EERREREGES— Ge H24.119 | H24.119 <97 <80 <18
27 %f”ﬁb,j rER AR — ERBEmR BEY 45 — BERRRRE TV Ge H24.11.9 | H24.11.9 <69 <70 <14
28 %f‘ffp,j BER ARl - B R BEY 4+A - BEERRERGE S Ge H24.119 | H24.119 <714 <69 <14
29 %f”ﬁb,j BER AR — ERBEmR BEY *H — BERRRRE - Ge H24.11.9 | H24.11.9 <86 <71 <16




Eit B E 5 FE By

= . Z0Hh ELFn Z0 . REE R _ _ s

No | e HEH | e A MEHS) | HAS (Bt BT, 2HEE BREHE BEE | @am | wmp | C51% | C197 | ceBl

%0 %fﬁ)yd il — FEFTE S — BERRERES VY Ge H24.11.9 | H24.11.9 <19 <69 <15
=

31 %;‘5.’»7\ il — FRE MR — EERBRERE S Ge H24.119 | H24.119 <9.1 <88 <18

52 %fﬁ)yd SRAET — B — EERREREEVI— Ge H24.11.9 | H24.11.9 <11 <6.6 <14
=

33 %;‘g,’ifp,j\ Bt — FERER — EERBRERE I Ge H24.11.9 | H24.11.10 <6.7 <6.3 <13

34 %fﬁ;,y HEE — RER — ERREERA L Y— Ge H24.119 | H2411.10 | <11 <84 <19
=

35 %;‘ff)yj ZART — FRE MR — EERBRERE I Ge H24.119 | H2411.10 | <79 <6.3 <14

%6 %fﬁ)yd AEH — B — EEREERE VS Ge H24.11.9 | H24.11.10 | <87 <6.2 <15
=

37 %;‘g,’ifp,j\ ST — FERE R — EERBRERE I Ge H24.11.9 | H24.11.10 <85 <8.1 <17

38 %fﬁ)yd ST — JERESR — EERRERE L A— Ge H24.11.9 | H24.11.10 <89 9.21 9.2
=

39 %;‘gﬁf)yj LT — FRE MR — EERBRERE S Ge H24.119 | H24.11.10 | <6.0 <14 <13

4 %fﬁ)yd B — B — EERBEERE VS Ge H24.11.9 | H24.11.10 <71 <11 <15
=

41 %;‘gﬁf)yj il — FRE MR — EERBRERE I Ge H24.119 | H2411.10 | <74 <141 <15

42 %fﬁ)yd WhET — FEiRE R — EERREREGEVI— Ge H24.11.10 | H24.11.10 <99 <88 <19
=

43 %;‘gﬁf)yj ZART — FRE R — EERBRERE S Ge H24.11.10 | H24.11.10 | <70 <14 <14

44 %fﬁ;,y AT — ERER — BRREERA L Y— Ge | H2411.10 | H24.11.10 | <83 <76 <16
=

45 %;‘gﬁf)yj ZART — FRE R — EERRERE I Ge H24.11.10 | H24.11.10 | <6.4 <83 <15

46 %fﬁ;,y AT — FRER — BRREERA L Y— Ge | H2411.10 | H2411.10 | <73 <69 <14
=

47 %;‘gﬁf)yj ZART — FRE MR — EERBRERE I Ge H24.11.10 | H24.11.10 | <88 <18 <17

48 %fﬁ)yd Al — FETRE R — EERREREEVI— Ge H24.11.10 | H24.11.10 <15 <71 <15
=

49 %;‘gﬁf)yj il — FRE MR — EERBRERE S Ge H24.11.10 | H24.11.10 | <89 <88 <18

%0 %fﬁ)yd Al — FERE — EERREREEVI— Ge H24.11.10 | H24.11.10 19.0 30.8 50
=

51 %Eﬁ;,y ARl — JETES — BERELHRE L 4— Ge H24.11.10 | H24.11.10 |  9.16 8.65 18

%2 %fﬁ)yd Al — FETE — EERREREEVI— Ge H24.11.10 | H24.11.10 <69 <41 <12
=

53 %gﬁr/ﬁ il — FRE MR — EERBRERE I Ge H24.11.10 | H24.11.10 | <84 <14 <16

> %fﬁ)yd FEF — B — EEREERE VS Ge H24.11.10 | H24.11.10 |  <6.9 <64 <13
=

55 %;‘5.’»7 FEF — FERER — EERBRERE S Ge H24.11.10 | H24.11.10 <84 <71 <16

% %fﬁ)yd o RRET — FETE — EERREREEVI— Ge H24.11.10 | H24.11.10 <11 <72 <15
=

57 %;‘5.’»7 o BRET — B SR — EERBRERAELVE— Ge H24.11.10 | H24.11.10 <83 <92 <18

%8 %fﬁ)yd =il — ElFnt — BERRERES LY Ge H24.11.10 | H24.11.10 | <93 <93 <19
=

5 |RAE LA — B — EBREERE L I— Ge | H2411.10 | H24.11.10 | <67 <73 <14

=YY




Ei . L] #5832 (Ba/kg)
No | siEEi TH | o e | e L - RERE pae | ZBE | BR | coim | corwr | cemst
60 %f”ﬁb,j 'EM — FERE MR — EEREERE VS Ge H24.11.10 | H24.11.10 <8.1 <86 <17
61 %f‘ffp,j w'EM — FRE MR — EERBRERE S Ge H24.11.10 | H24.11.10 |  <9.8 <6.8 <17
62 %f”ﬁb,j 'EM — B — BEEREERE VS Ge H24.11.10 | H24.11.10 <15 <6.2 <14
63 %f‘ffp,j w|Em — FRE MR — EERBRERE I Ge H24.11.10 | H24.11.10 |  <6.2 <6.8 <13
64 %f”ﬁb,j |EM — B — EEREERE VS Ge H24.11.10 | H24.11.10 <85 <13 <16
65 %f‘ffp,j w|EM — FRE MR — EERBRERE I Ge H24.11.10 | H24.11.10 | <6.1 <15 <14
66 %fﬁb,j BEM — B — EEREERE VS Ge H24.11.10 | H24.11.10 <83 <176 <16
67 %f‘ffp,j w|Em — FRE MR — EERBRERE I Ge H24.11.10 | H24.11.10 | <6.8 <70 <14
68 %fﬁb,j BEM — B — EEREERE VS Ge H24.11.10 | H24.11.10 <83 <71 <15
69 %fﬁ))ﬁ INEFET — FERER — EERBRERE S Ge H24.11.10 | H24.11.10 <83 <13 <16
70 %fﬁb,j /NPT — B — EERBEERE VS Ge H24.11.10 | H24.11.10 <9.7 <84 <18
7 %fﬁ))ﬁ INEFET — FERER — EERBRERE I Ge H24.11.10 | H24.11.10 <83 <15 <16
72 %fﬁb,j FEIEAT — B — EEREERE VS Ge H24.11.10 | H24.11.10 <88 <95 <18
13 |RBE Biarm — FERER — EERBRERE S Ge H24.11.10 | H24.11.10 <6.6 <76 <14

=YY




